
A. Choose the correct answer: 
1. What is the difference between 8,000 and 5,235? 

a) 2,765 
b) 3,765 
c) 3,875 
d) 2,875 

2. If we subtract 0 from a number, the answer is 
a) 0 
b) 1 
c) Same number 
d) None of these 

3. What should be subtracted from 9,999 to get 6,543? 
a) 3,456 
b) 2,543 
c) 3,455 
d) 4,456 

B. Fill in the Blanks 

1. The result of subtraction is called the ______ 

2. 5,000 − 3,000 = ______ 

3. Subtracting a number from itself gives ______ 

4. In subtraction, we start from the ______ place 

5. If the minuend is smaller than the subtrahend, the difference is ______ 

C. Different Type Questions 

1. Subtract 36,782 from 75,430 

2. Estimate the difference between 6,849 and 3,201 by rounding to the nearest 
thousand 

3. A factory produced 8,234 toys in January and 6,791 toys in February. How 
many more toys were made in January than in February? 

4. Fill in the blank: ______ − 4,786 = 3,212 

Subtraction 



5. A man had ₹9,000. He spent ₹4,765 on buying a bicycle. How much money is 
left with him? 

D. Mark each sentence with a True (✔✔) or False (✘): 

1. Subtracting 0 from a number changes its value 

2. We always subtract the smaller number from the larger number 

3. The difference between 9,000 and 9,000 is 0 

4. Subtraction is done from left to right 

5. When borrowing is needed, we take 1 from the next higher place value 

E. Miscellaneous Questions 

1. Write a word problem involving subtraction of two 4-digit numbers and solve it 

2. Subtract 4,295 from 9,786 and show the steps clearly 

3. Estimate and then subtract 6,342 and 2,159 

4. A library had 5,000 books. If 1,785 books were issued, how many books are 
left? 

5. A train can carry 10,000 passengers. If 6,234 people are on board, how many 
more passengers can board?  


